Best model for HELP J141612.235+522827.803 at z = 1.327 x2=15.03
OPTx2=24.32 IRx?=1.47 threshold (OPT IR)=18.61 [um]

102 Stellar attenuated
S Stellar unattenuated
. —— Dust emission
1 . Ji,‘ —— AGN emission
10 . = Model spectrum
m \4
® Model fluxes
0 M oObserved fluxes
10
=
S
— 10—1
5
T "q}f’ﬁ""'h-.\_prr—w»—-"'“’ \.\m
1072 :
3 1
10~
1
3 4
= ] ==f=(Obs-Mod)/Obs
S ]
S ]
7 ]
] o___ - ——————— e e e e e
o ]
) ]
2 ]
5 ]
f_U—l T UL R | UL R | UL LR | R | T T T CIGALE
g F
& 10° 10! 102 103 104 10 il

Observed wavelength [um]



